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1. BEITRA
= % 1z A 500, 000 0 500, 000
* - Iz A 0 4,085, 000 A 4,005,000
NHKH#R=z2®28I70D =z b 0 4,095, 000 A 4,005,000
% 1t * 1z A 2,000, 009 2, 500, 000 A 500, 000
BEEIHIRAG 2,500, 000 6, 595, 000 A 4,095,000
2. BEEEZMN
- % 5 % H 2,100, 000 4,174,000 A 2,074, 000
H kR En R & 0 160, 000 A 160,000
i & bt 1% X % - 300, 000 0 300, 000
R—L A — DR - FE - REETEHE 500, 000 577, 500 A 77,500
NHKHZ2RE oo b 0 3, 436, 500 A 3,436, 500
B & s A -1 0 3, 000, 000 A 3,000, 000
J B ¥ 3 A B O K 0 300, 000 A 300, 000
= E #% 0 6, 500 A B,500
L & * 0 115, 000 A 115,000
- H =4 0 15, 000 A 15,000
2 a2z TF 4—-—HWEEEE 700, 000 0 700, 000
RBXfbizrh-yavicBd o REHEFTES 300, 000 0 300, 000
Byfbizaizy-vavlc BT A BBEEBEE 300, 000 0 300, 000
% B # % B ' 400, 000 925, 000 A 525,000
i # % & % 200, 000 100, 000 100, 000
H # & % 0 6,000 A 6,000
= # i = B # 3 0 630, 000 A 630, 000
M =4 200, 000 189, 000 11,000
BEAIEE 2, 500, 000 5, 099, 000 A 2,599,000
ERTHINER 0 1, 496, 000 A 1,496, 000
I EEFHNEOR
1. EEZTURA
TEEER A 0 0 0
2. JETHEH
R ESHE 0
BRETENE 2 0
I HAEEENEOR
1. BEEERRA
B EERIR A 0 0 0
2. BEEEESI
HHERXHE 0 0 0
e S e 0 0 0
LI IR EE 0 1, 4986, 000 A 1,496, 000
AR 8 1,528, 481 32,481 1, 496, 000
R RN 8 1,528, 481 1,528, 481 0




